—BB=F —TE-F
ANA=tH +=—A=+—H”
B = FTHT FAT
(REER) (K2 =%)
ERBEE

KEME 10 1,814 1,814
W - BB k& 10 8,511 9,091
(RS 710 1,098
BEEE (91) (140)
BHEE 2,964 2,964
13,908 14,827

mEBEE
BHEZE 6 6
TE 33,179 27,212
FEUERE K « 2e RTEN KA 11 132,137 134,278
Rl E & 374 —
A Y [B] 7 78 1,252 1,094
BEBRITER 18,053 18,008
WITHERRES 9,316 26,328
194,317 206,926

mEBAE
FETBR 3R R FE R 2 12 53,726 77,608
EERE 15,645 7,270
1A 4,129 4,692
Rl & A 11 11
ERBIEER 51,351 59,511
EEAIRITE R 1,323 2,871
FEA AR B — 10,000
126,185 161,963
RBEEFE 68,132 44,963
REERTBEE 82,040 59,790
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BHEEEE

—BB=F —TE-F
ANA=tH +=—A=+—H”
P 5 FTHT FAT
(REER) (K2 =%)

FmEBERE
Rl & A 40 46
i 3E B 18 60 60
100 106
D EUAR R 1,015 1,004
80,925 58,680

BERR G
& A 13 40,000 100
s 40,925 58,580
80,925 58,680
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